EARAZROREIERT — 2 N—XBISY —F 20195108158 (A) 14[E1F9511H

m 3mltEC4—-6 C4 H5FR—MK% ‘ (%E] W ‘ (mEsm] — | 4 (A) 17000 &
[AE£] 1% :250,000 ™ ~ 23#%&:50,000"  33&:38,000H  47&:2500MH ~ 57&:12,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
15571757 3 ﬁmﬁi‘tﬁ 1:52.0 1-1-1-1 |35 — | 6 | 466 gégg (i)
: (=) ~ [ 7%
R:8=/¥LLy b B:EIVCAZ4—b (-4) e
= 55 4t 3 | Ml 1:53.1 3-32-2 | 39.3| — 3 460 | EHRESL (Atimsd)
20111 |L—72>77> 54.0 (5) +f Eease
R:iyA7x BTLU—% 42 | s
> o 4 3 | HLRE 1:53.4 4-3-4-5 |39.4| — 1 548 | #FNEA (AtiEiE)
3 6 ‘V?/a"?& R 56.0 (11/2) (+4) IFE
:7—=UT74—X B:iELZXTITYU— RIS
N > PSRN 3 | LiEBAE 1:(513).6 2223 [89.8| — | 7 | 432 /ngﬁ _F(j_tjgﬁi%
QN=5—SyF BHEIALEN | T
sl7] 7| D741 214 —3— 3 ﬁ%iﬁk 1(:15/32.>7 5-5-4-3 |39.7| — | 4 | 474 %gg%u (AtiiE)
R:G4 7 N7—)LEY B:I7I€y b #2) HET77— L
SER Y . N =
6 3| 74—EXUHTx 3 ﬁ%&—# (11.514/. 20) 6-6-7-7 |39.6| — | 2 tg;; Qé_%g} (Claz:2e)
R:T—0T74—Z B:E F®—H7Tz =e)
i i 3 | BRERF 1:54.6 8-8-6-6 |40.6 | — 5 472 | WAE— (dtiEE)
7lglg|d>¥Tt 54.0 3) ) |EHD
L:7—=U74—-X B:Ar+t &SRS
_ % 3 | EBEZ 1:54.7 6-7-8-8 |40.3| — 8 454 | WHEFIR (L&)
8 4| 7V I K—IWZTA 54.0 (1/2) (o) | FANI
R:T5>TVRZX B:STURZRTS A4

® 1 —F—@EBIBfL

| S=zr= 5,2,1,6,7,(3,4) .8

2al=3r= 5,2,(1,6),7,3,4,8

33—7— |5,(1,2),(6,7),8,3,4

Adx=zr= 5,1,(2,7),6,8,3,4

® RS

BB 5 950MH 714K 1-5 600M 5= 1-5 1,490 3EE 1-5-6 1,890

7 B 5 230M 5-6 810M BB 5-1 3,020MH HEH 5-1-6 13,500MH
1 140 1-6 340M
6 140

ABICOVWTRDTEEERROODE. TR LIV,



